QCM d’entrainement
Racines carrées

Corriger

I Résultats SN

Question 1
Question 2
Question 3
Question 4
Question 5
Question 6
Question 7
Question 8
Question 9
Question 10

Total




Dans chaque cas, écrire sous la forme av/b avec a > 0 et b > 0 tels que b soit le plus petit possible.

Question 1. NG

a = b =
Question 2. V50

a = b =
Question 3. V222

a = b =
Question 4. V135

a = b =
Question 5. V12

a = b =
Question 6. V56

a = b =
Question 7. /108

a = b =
Question 8. v/160

a= b=
Question 9. /550

a= b=

Question 10. V32
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